FHILE

BAT ESHENERELFNA



I TRRELGTIHINH T2 2, TEM
HAR B S22 2 N R 13755 A0 N R B 7V

Bl —(F A2 WS N AETE SR, PNEFIR,
WS, =8 +n5, BVIGEHEEEANS, REEKK
AF) .

ﬁ ‘S:'+1=‘S't+r‘svt

S8, -+r)s,=0




Xa—1T—FrE R/ BFRETHTIE.

KFAE F57
AL T

AW

TRFFR T TR

KO

a2y A—(1+7)=0,
35’]*@7’7 A 1+"9

BN S = Cﬁ+ﬂ

NGRS, /RC=S,

A tt, £

SKEAFIRIN S =8 1+ 7).

Rl —FAE SFEANRITE, FHERN

5

EE AR,

prs

=R HIASF A




51218 2, S F1D53 N FHEF

BT RE, XHE HIEE,

T 2R E SkET

/\/

wlangs=0,1,2,3, -

1B o AR

A5 ZIHI DY #% Eﬁl‘fr%@ =, e

W B SHEAR T y
St s i dPt’
[FIRE B 20t FT 49
D =a-bP

X% a, b, ¢ &BINIEFEE.

55 Z I 7

=K, Rt




CRRIFOL S R ERAT,
£ BRI Pl - 1N IR As P ST B
TEREZES, D, HTFRRR

=£, /’L(S -D,_ 1)

MAEE (R AEED.

1RO TR ST I RS 2GS

23K P im0 B TR B A2 A0 AR

\l1,

N dr




i 1HD =511, Pe=a+c;

Ly 2v(‘*s;-l = Dt—l)

=P, —l(—ﬂ+ bF,_, —(6’- dPt—l))

i g—(l—M—dA)P_1=l(a+6')

4

MO

BRI R MR E ST
z%mﬁ@mﬁ%ﬁ




> = ((1-6A-dA)
R — MR Y

JR 57
:=a+c=ﬁ
b+d

P=C-sr-dAY +P
THIGEFEL— R EH, HA=C+P,
A5 C= A - P,

Wi, 2=(2-PN1-6A-dA) + P.




BISTER AL A= R, FRSE T7oe R i

—NEIWEY, AN PIREE

R A Wiz i B FHRE D,
=g OEwS — i dlf

(/::liila, b o ijlé'%ﬁ)

KK L, BELS =D.
1R 4% B R [RI AR B A HE 2
2.7 BT M I RS Ak

A

B — 30T A0 A R R T R 7E T 3

AErEEAE NN HERE REETHHE S,

7<)

=i




% 148, =DAB,—c+dP_,=a-bP

Blb6P +dP_,=a+c

EIJP+JP a+c
b b

X BrE 2k 7

R —REN

N0

B T7

B RN e=c(-—

/;{%ﬁﬁ%%%‘f%j’\j L =

ARSFIRES T .

4-5)

* a-tc

P
b+d

d)t a+c
+ s
b+d

q 4 G

b



FUE&GP— R ER, Hwme=c+27°

b+d

EI?%C=P0—”+C,

b+d
i ﬂ+6'\ a+c
M"ﬁe_(ﬁ’_b+d)( )+b+d'
2.5 AT T g e AP R R 25
W-Y<1 1m2-= ate ‘S p
b 7—>+00 b+d

XUEHAHHMEETE 4, ISR 2 - ;’: ;
B— AN PN .




2)-={>1 lim 2=

b {—>+o©0

X Ui B T a B s kR, HEKEUR 2.
(3)_5 By =5 2= 2Pt* —

XY A T 0% 2

it

/’:‘A /§1/E>Hilj‘§ °




{514 (5 A ity A IR, € R
W, LNTIATEE, 12 EA W TFRRAR
C=op,+a

1 =0y +b

AT J’zl—e(}’zl_czl [tl)

HEFa, B, @ MO AEE, HO<a<l,

0<B<1,0<0<1,0<a+B<1, a=0, 520.
A2 B ) B R WA p 2 A
Ry, 5 A BRBUK A

A




& mEETA
& [1+ e(l_a B ﬂ)]yt—l = —0(d+ b)

Xa—N—kE R BT IRED FIE.
o KL TG B RN b
y=C1+0(1-a-B)f +—2=
yE&, B3 g L
a+ b a+ b
g =(}’0_1_a_ﬁ)[1+0( — O ﬁ) +1—a—ﬁ

XAt A E RN BERT ] AZACHT AR .

q 4 G




